TMP NO. 93739_A

PAGE 1 OF 1

REV. A

Always consult dormakaba's website for the latest templates at https://dhwsupport.dormakaba.com/hc/en-us
or call 1-800-392-5209.

NOTES:

1. BEFORE DRILLING, CHECK THE TEMPLATE—INSTALLATION

TEMPLATE FOR MORTISE LOCKS AND ELECTRIFIED MORTISE

LOCKS (T93738).

@

THE DOOR MANUFACTURER.

THE MAXIMUM DOOR-TO-FRAME GAP IS 3/16" [4].
ALLOW 3/64" [1] CLEARANCE FOR THE DUST BOX THICKNESS.
FOR METAL DOORS, LOCK CASE SUPPORT IS REQUIRED FROM

NOTES:
5. TAP FOR A #12-24 MACHINE SCREW OR DRILL FOR BACKSET: 2-3/4" [70]
A#12 WOOD SCREW (A COMBINATION SCREW IS DOOR THICKNESS: 1-3/4 [44] — 4" [101]
SUPPLIED).
6. LOCK CASE HOLES:

@® CYLINDER HOLE—
1-1/4" [32] DIA.
MORTISE CASE — OVERHEAD VIEW

_>| |<— 1-1/32" @ EMERGENCY KEY / THUMB TURN
[26] ACCESS HOLE—1/2" [13] DIA. ~—
3’[‘13;‘ © TRIM MOUNTING HOLE ADJUSTS 90° + 3-1/2°
31/32" [25] " e
332" , | 3/8" [10] DIA. (TWO REQUIRED) e\ (og]
[2]_1 — 1-7/32" ® LEVER HOLE —7/8" [23] DIA. M 3 |
:I:J _’I |‘_[31] X I
STRIKE PLATE — DUST BOX — ) | 718" [22]
OVERHEAD VIEW OVERHEAD VIEW 114" f— X
2 X #12-24 SCREW 131] 1 2-3/4" [70]
NOTE #5 | o5 BACKSET —»
W | -2 x#12-24 SCREW
"1[‘312’;"’ )/ NOTE#5 |<1-7/32% ‘Q
B31 1-7/8"
F N . 48] T
51— O 7-1/4 | K\ 13/16" [20]
l__ 916" i T !
4-7/8" 8" e e B Kj
[124] -, [203] (el 3-5/8 1_3+,16-- (C) 3-5/8"
CENTERLINE [92] 92]
4-1/8" orPTE 3378 4-25/32" 782 301 [
[10s] AL [121] il M : _Ce } .
T 57/8
3364 T = s ] Ity ¥ " 2-27/64"| [149]
[77] T 38" 3-21/64" [28] 4 ) ° [61]
[10] || ® —y 3251 o \
CENTERLINE R
OF LOCK _‘Ea— | I:[
/AR B | 4r > <50 )\
&) 101 — 16 .
O e el 1-172 =116 L0
e —  ~— — ~—15/16" 11/32" s [43]
[18] [24] [91 OF LEVER TO |
CENTERLINE 1
STRIKE PLATE DUST BOX oF rock lJ\CLEAR FOR SCREWS
O 1/16" [1] DEEP
FACEPLATE N ‘4_7,32" 5] P
N V7L S 45°
[19] ~—

MORTISE CASE — SIDE VIEW

NOT TO SCALE. MEASUREMENTS ARE FOR REFERENCE ONLY. NOT A DRILLING TEMPLATE.

M1000 MORTISE LOCKS FOR LOCKSET
TRIM STYLES A, B, D, H, M

dormakaba s

dormakaba USA Inc.




